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= 576,943
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= 4,644,070
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= 977,820
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250,000 * 25 * 23| 1,000
<URE > 0
o MEANY EXAE 700,000 * 122 8,400
02 2Z2H| 11,774 14,711 £2,937
<ZZRILHA > 0
o 5UAR FIIQIB(3MA) 250,000 * 122 3,000
o 5UNE Bk +HE
500,000 * 34 * 13| 1,500
o AEAIZ SEHY M2AUl 1,000,000 « 13 1,000
< NEFHIRXH > 0
o AZzel KX 1,200 5,228 6,274
303 TAS 3,000 0 3,000
01 ZaZ 3,000 0 3,000
o THAHAIR - 4D1018 24222 AlY 3,000
- Fea 500,000 * 3% 1,500
- eay 300,000 * 3% 900
- s 200,000 * 3% 600
307 QI2t0IH 7,874 7,272 602
05 eI2teieta 7,874 7,272 602
o HEANF ASE I+ 2 el A2 7,874
- NBE T4 2 ABDE 2RY
33,740 * 3% * 52 « 122 6,074
- NE R4 150,000 * 128 1,800
401 Al HI LRI 100,000 0 100,000
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2 10,195
= 3,398
, 2 3,399
ng=3 =8 16,992 10,000 6,992
2 10,195
= 3,398
= 3,399
01 YsrE A 6,992 10,000 6,992
2 10,195
< 3,398
2 3,399
01 ABIEEH 6,992 10,000 6,992
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11,328,000 * 144 11,308
2 5,664
= 2,832
2 2,832
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5,664,000 * 141 5,664
2 4,531
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TE=S/Eb/] 6,054 7,320 A1,266
SOIEA L X z el 6,054 7,320 A1,266
101 o124t 3,374 3,640 2266
04 JIZHZENSE 3,374 3.640 266
o RBEIIA AFY 33,740 * 2% * 50 3,374
201 Yt 2,680 3,680 A1,000
01 At 22l 2,680 3,680 A1,000
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o 2ItorH RIZ 100,000 * 5% 23] 1,000
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o 2IHHH ausg
70,000 * 12% * 23] 1,680
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1,000 * 5% * 2000 1,000
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01 QIAREEE 5,000 0 15,000
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SAIDIA BEAY 900,000 800,000 100,000
= 200,000
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= 200,000
T 700,000
01 SIAR X 900,000 800,000 100,000
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=L 20,240 16,800 3,440
201 Yer2ey| 9,240 5,600 3,640
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= 30,821
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= 30,820
= 30,821
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= 30,820
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o A28 2 54,646,000 * 12.8% 6,995
3 U2 T2ME 592,595 0 592,595
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< 47,407
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= 44450
04 JIZHIZ2HEE S 444 495 0 444,495
o Jl2e3 1,087,000 * 86 * 43| 373,928
= 306,621
< 29,914
o 37,393
o AEE R 373,928,000 * 12.8% 47,863
= 39,248
== 3,829
= 4,786
o Z2HAYH| 3,000 * 869 » 222 * 43| 22,704
= 18,617
< 1,816
o 2,271
201 Lt AH| 6,887 0 6,887
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200
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48
60
SRS 120,000 * 1090 £ 1,200
984
9%
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202 Oddl 2,000 0 2,000
1,640
160
200

MW

01 =LHAOYI 2,000 0 2,000
o S|YIZAY F& 20,000 » 259 = 49 2,000
1,640

160
200

MW

206 M=l 139,213 0 139,213
114,155
11,137
13,921

M

01 M= bl 139,213 0 139,213
o UM + 6,960,650 * 205 139,213

114,155
11,137
13,921
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NEFN & oF 600 3,000 A2,400

224 =5 600 3,000 A2,400
Ar2tel 600 3,000 A2,400
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o= 540,130 558,530 A 18,400
= 50,000
= 37,000
= 453,130
I &N 54,500 57,020 22,520
= 2,000
= 52,500
SAJY =4 50,500 53,020 22,520
201 LBr2dl 4,000 6,520 A2,520
01 At®22ld 4,000 6,520 A2,520
o 4| [ 200 X2 1,000,000 * 22| 2,000
o JgAEE2s 222 HMZE 1,000,000 * 23] 2,000
308 XXl =X SO0l 46,500 46,500 0
05 XbXIEHH 2t = 46,500 46,500 0
o EAJIEERHIIZ &892 (Hetdg)
46,500,000 * 13l 46,500
SIS J=XE 4,000 4,000 0
& 2,000
= 2,000
301 et ez 4,000 4,000 0
= 2,000
= 2,000
12 JIEtE o= 4,000 4,000 0
o EA0|Y & z2Jl= XN
4,000,000 = 14 4,000
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SR ES 485,630 501,510 A~ 15,880
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o EXNRX EEES ¢ JYNE U g5
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202 O4Hl 5,400 6,000 A 600
01 =Wl 5,400 6,000 A 600
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05 QItLIEt =3 10,000 10,000 0
o AAREXNRI H¥3F 10,000,000 * 13l 10,000
401 A &HIL 2048 201,440 201,440 0
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200,000,000 200,000
03 AIZ 204l 1,440 1,440 0
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FAEEAZ XA 130,000 50,000 80,000
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402 SI2+HXHE01H 130,000 50,000 80,000
& 30,000
= 100,000
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i 100,000
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=EdIY OIMEXS 50,000 0 50,000
402 SI2HHE01& 50,000 0 50,000
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INR= R g R NP ID] I= 90,000 650,000 560,000
UL ESEEHNZE 2 FEXRX 90,000 650,000 560,000
306 £E¢= 90,000 650,000 A560,000
01 2493 90,000 650,000 A 560,000
o ULMSAZsHE 22|
180,000,000 * 50/100 90,000
s A 3,241,040 4,821,000 A 1,579,960
& 164,000
_ 2 3,077,040
2gH 22 € K& 3,204,000 4,804,000 A 1,600,000
& 164,000
2 3,040,000
HA BNEH ZAIES 20,000 20,000 0
207 AN Y| 20,000 20,000 0
01 A= S| 20,000 20,000 0
o HAEKLEH ZAIES 20,000,000 * 14 20,000
SN =ABN3 474,000 474,000 0
& 24,000
2 450,000
307 gI12told 474,000 474,000 0
& 24,000
i 450,000
09 2HAHEXS 474,000 474,000 0
o HXLd &ABAZ 118,500,000 * 48l 474,000
= 24,000
= 450,000
M RFAME oMz EX 2,400,000 4,000,000 A 1,600,000
307 gI2told 2,400,000 4,000,000 A 1,600,000
09 24UNBED 2,400,000 4,000,000 A1,600,000
o 2LANRBNE BX
600,000,000 * 43l 2,400,000
HAuXsI2=SHM HE XA 310,000 310,000 0
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402 QI2HX=01A 310,000 310,000 0
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= 170,000
01 QA XGEEX 310,000 310,000 0
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= 170,000
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SEHA EXE X & WA 20,500 11,000 9,500
401 AlEHIL 200 20,500 11,000 9,500
01 Al&HI 20,500 11,000 9,500
0 =SEEHA EXE &EX 350,000 * 309 A& 10,500
0 SEHA EXE A 200,000 * 50H A~ 10,000
ME==g=1 PN 16,540 6,000 10,540
201 LBt249h| 3,640 2,800 840
01 At=2teltl 3,640 2,800 840
< 2894 > 0
o NEgaEA - NHHHAQR A EFA=H
70,000 * 99 * 33 1,890
< = Ed| > 0
o NEdFH F& 7,000 = 5% = 509Y 1,750
202 OfHl 2,900 3,200 A 300
01 Z2LHO b 2,900 3,200 A300
o WESHEH F& 20,000 = 59 » 29! 2,900
401 AlEHIZ 20| 10,000 0 10,000
01 Al&HI 10,000 0 10,000
o HAHDIE 28X S§2 &Xl
142,857 * 70m 10,000
HYSHHH (XS E M) 45,480 41,999 3,481
ol 2HH| 25,515 24,014 1,501
ol 2HH| 25,515 24,014 1,501
101 Q124 4| 22,515 21,014 1,501
01 B 22,515 21,014 1,501
< =G> 0
o AlZt2f+%
6,949 * 158 * 18AI2 = 12& 22,515
203 L2 =&l 3,000 3,000 0
04 2A2ILERF=EHI 3,000 3,000 0
o 1591 0|3t 250,000 * 12& 3,000
Jl=2Z 4l 19,965 17,985 1,980
Jle&dl 19,965 17,985 1,980
201 dEt29| 19,965 17,985 1,980
01 AtR22ldl 14,845 13,225 1,620
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25,000 * 102tA = 128
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145,000 = 10K
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30,000 = 1CH

*

*

*

*

*

*

>*

304
23l

13]
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